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(Indian Philosophy - II) 
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Full Marks : 75 

Candidates are required to give their answers in their own words 
as far as practicable. 
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1. Answer any wo questions : 

The figures in the margin indicate full marks. 

(2) 

|English Version] 

(a) Is the causal the ory accepted in Sänkhya philosophy a theory of real transformation or a theory of apparent transformation? Give reason in favour of your answer. 
(b) What are the antaranga (internal) S�dhana of Yoga? Discuss in brief cach of these. 

2. Answer any two questions : 

(c) What is the main tenet of anvitavidhãnv�da? Which Indian philosophical school is the proponent of this theory? 

(d) Explain the significance of 'sar', 'asat' and mithya' in Advaita Ved�nta philosophy. 

(a) Discuss the S�mkhya theory of evolution of Prakyti. 

5x2 

(b) Analyse the nature of sampraj'�ta and asamprajñ�ta sam�dhi admitted in yoga philosophy. 

3. Answer any three questions : 

10 

(c) What do you understand by yogya and ayogya anupalabdhi? Can yogy�nupalabdhi grasp 
negation? Explain. 4+6 

(a) Explain, in detail, the theory of liberation admitted in S�mkhya philosophy. 

10 

(d) What are the objections raised by Ac�rya R�m�nuja against Samkar�c�rya's theory of mãya? 
Explain. 10 

15 

(b) What is meant by citta in yoga philosophy? What is the modification of cita? How many cittavytis 
are there and what are these? What is the nature of yoga? Why yoga philosophy is known as 
se[vara s�mkhya? 2+2+5+2+4 

(c) What is arthapati? How many types of arth�patti are there and what are these? Can arth�patti 
be included within the scope of anum�na? Give reason in favour of your answer. 6+4+5 

(d) What is the major distinction between Advaita Ved�nta philosophy and Vi[i_tädvaita Ved�nta 
philosophy regarding the nature of Brahman? Discuss in detail. 15 
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